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Choose T (true) or F (false) for each statement.

_|

?/@/ 1. The integral of J-(8X+ 4)(x" +x) dx is%(x2 +x)*+C @/
i

:2_>(+|
Af_

5 3
2. The integral of J4x\/2x —3dx is(2x—3)z+ (2x—-3)2+C
dm=adx Us2x—-123

2 X= U+ o ) ) ) o
3. The partia?fraction decomposition of the integral J.————————dx is —+ + F {fT )
3x° +4x° —4x x o Gx=n o (x+2) Ny
X(2x?rdx ~4)
3% -+e *b
21 26x+12 T +2 7%
X"+ + , W
4. The integral of —3fdxis —21n|5x+3l+21n|xl—3+6 F
5XTH3X] 2 x

2w & AP S
1o = X ¥ 1«’)

5. Solve the following integral, SHOW THE STEPS OF YOUR PROCEDURE.
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